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SOCIOLOGY
Paper 11

Time Allowed : Three Hours| | Maximum Marks : 300

INSTRUCTIONS

Each question is printed both in Hindi and in
English.

Answers must be written in the medium specified in
the Admission Certificate issued to you, which must
be stated clearly on the cover of the answer-book in
the space provided for the purpose. No marks will be
given for the answers written in a medium other than
that specified in the Admission Certificate.

Candidates should attempt Question Nos. 1 and §
which are compulsory, and any three of the remain-
ing questions selecting at least one question from
each Section.

All questions carry equal marks.

Important : Whenever a Question is being
attempted, all its parts/sub-parts must be attempted
contiguously. This means that before moving on to
the next Question to be attempted, candidates must
finish attempting all parts/sub-parts of the previous
Question attempted. This is to be strictly followed.

Pages left blank in the answer-book are to be clearly
struck out in ink. Any answers that follow pages left
blank may not be given credit.
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Section ‘A’

1. Write short notes with a sociotogical perspective on
the following in not more than [50 words each :

(a)

{b)

fc)

(d)

(b)

(c)

12x5=60

Limitations of the dialectical approach to the
study of Indian society.

Changing rural power structure.
Challenges to institution of marriage.

Westernization and institutional changes in
India.

Interaction of ‘little tradition” and ‘great
tradition’.
Distinguish between the following :  4x4=16
(1) Tribe and Caste.
(i1) Affinal kin and Consanguineous kin,

(it)) Marriage as sacrament and marrage as
contract,

(iv) Positional change and structural change.

‘Indian soctety may be understood as a system
of cogmtive structures.” How far do you agree
with this statement ? 30

Comment on the social and cuftural deter-
minants of sexual diviston of labour. i4
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1. fratafaa # & @ W, aumeITEy gitrey § aidy

froaforat fafae, St o 150 @ i =T R A .
12x5=60

(F) AR W & 9T H grglond QIR
HTd |

(@) afatda g st @@ |

() faame it FEar % TR AT |

(1) gfesEieRor iR wkd # FerrE aiETd |

(%) ‘9 WRT @@ ‘§d WRT' & sa-foar

. (F) faeatafaa # sia< aary 4x4=16

(i) st T wf |
(i) aarfes @wF ud THHES @i |
(iiiy fee ww aififs @R @ faw @
HHET |
(v) Teafe ofads aur a@Ars i |

(@) ' TRATT qHT FAHATHS TLaATeTt i O =paer
F 9 H GHEAT S dbar ¢ || AT 36 FuA F FE

ok HEAT £ 7 30
(m) i wm e & gmihie ud aiesfas
frafe w femu fife | 14
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3. (a) Examine the impact of secularization on
various religious communities in India. 30

(b) Has geographic and economic mobility
impacted the tribal culture and social
structure ? Give examples. 30

4. (a) Has nuclear family existed in traditional
India ? Discuss with reference to the views of
I. P. Desai. 20

{b) How have social reform movements in
colonial India contributed to modernization of
Indian society ? 20

{c) Discuss the factors which contributed to
industrial modernization in India. What are the
salient features of new industrial class
structure ? 20

Section ‘B’

5. Write short notes with a sociological perspective on
the following in not more than 150 words each :
12%5=60

(a) Demographic perspective of Indian youth.

(b) Regional political elites and the democratic
process.

(c) Education and Dalit empowerment.

(d) Constitution as a living document of social
change.

(e) Education and removal of inequality.
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3, (F) wra ¥ fafirs arfifen aemmE) o A &
TS & LT e | 30
(@) =1 AwE aegfy wa amieE 8T )
srnfer ua slie afdefierar & Targ 927 8§ 7
SRR &I | 30

4, (F) =1 F=E (gEEh) fER wWREeE wwa 7
fermrr or ? oS, oY dar ¥ e & @l A
far=m s | 20
(@) defafim w)a & o9 guR wigaa |
TRATT G & aregfhieror & 1 ave fear
g7 20
(M) f FREr ¥ wa § oenfie amgfdeor 4
dpem o &, zadr fEer Sl aEm
i ot goa1 it g A ®r g 7
20
T ‘q
5. Frfafaa & & v W), gAeE g afdsg & gfw

foafirat forfan, S g 150 vt A aferw T & -
12%5=60

() A a1 F SR e |

(@) S T sifeTT i Tt 9fT |
() frerr wa afora gurchieeo |

(=) mrforn afada & Sfea &9 # |fagr T |
(%) farer ok amTiors SrewTET I |
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6. (a) Critically examine the concepts of nation and
citizenship in the context of globalization. 20

(6) Discuss some social and cultural determinants

of infant mortality rate. Give your suggestions

to prevent infanticide. 20

(c) Bring out some positive and negative social
consequences of green revolution. How has

green revolution changed the rural social
structure ? 20

7. (a) Describe those social changes which have
- contributed to increase of violence against
women. What are the emerging forms of
violence against women ? Suggest suitable
measures to contain this problem. 30

(b) What are the problems of ageing population ?
Describe the declining traditional social
support system for the aged. Suggest alter-

native measures to support ageing population.

30

8. (a) Have the new economic policy and economic
reforms led to weakening of labour class
movements 7 Explain  your views with
examples. 30

(b) Do you think that some policies and laws
relating to environment have retarded the
development process ? Give examples. How
can an ideal balance betwcen environmental
protection and development goals be brought
about ? 30
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6. (&) dxaraor ¥ wavf & Ty UF AT & 97
ATETETCRE GETT hIfS | 20

(@) Ry T | & 39 aIE CA Al
Frufeat £ frdmmm Do firgeer &1 T &

o e g S | 20

(1) g Ff & FT TFRE T TERHF
AT afcom sy | e Friwr g A
AT ST § e TeR ¥ afada g 8 7

20

7. (%) o7 wrATtAE aiaeHr @ adq fifm e
afgarat & foeg femn # afs & wam @ g
afeemell ¥ feg G SRa =T RIS 1 W

T & Fror & ford Iwges 3o g9rsd | 30

(@) gg sreer §1 #1 gaedrd € 7 3 st &
FETaE IR HTAT(w7eh sATeT & e &1 A0

Hif | 35 et Y T & for dwfE

Qural &1 gara G | 30

8. () Far e Thfe Ay o anfdes guri & aferes a7t
FHATH | 30

(@) F1 @19 aed @ {6 qaiewr & @afad 39
At wF FEr & fawm afeen et gl g 7
gaTeReT AARRY | wateror geaT T e & Sgvat

¥ g T aEnl aE FA FAET ST AT 8 7

30
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ST
94% T3 fgmst sk sfisnt Y & wur 84

T3} & I I AN & ford e TfRv, R gw
A9 GIN-97 F fa7 oy 8, oK 3@ Ameaw Fv oy
FeolT ITR-TETF & -8 R sifoed T & 07
T s SfRg ) gde-vr W IR anam ¥
AR =7 o Arsaey & ford 17 I 9% € 5 AgF
faeier |

g FEqT 1 AR S sfvard § | At vt 7 & 9ol que
# F-8-30 Q&% 997 79 e T T F I
g ¢

T A F g garT §

TE ATV § foF o1 ot et o AT e AR B, AW
IT 9T F qHT W/ FU- NI & FET ar-ary ¥
gt oref ag & fo srvet g T g v % forg et
qe7 & g et g9 & &t W/ F0-wTT & gee
FIATH €Y ST | ¥ qTT &7 FeTE & sraeor #iforg |
IR gieiaT & @l ois gU 8Y &' @ngt F ew e &
F1E 3 | G g2 gU TNl & a7 @ gu IO ¥ sw A
feg s, g g e &

Note : English version of the Instructions is printed on
the front cover of this question paper.
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